**SOLUTIONS** 

Review Sheet for Chapters 2 & 3


Math 110, Intermediate Algebra

Vanden Eynden 

1.
 

a. 5
b. 3
c. 3
d. –2
e. a = 10
f. 
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g. 5
h. –34
i. 
[image: image2.wmf]2

1

2

x

x

+

-


j. 
[image: image3.wmf](,)

or

-¥¥

¡

(all real numbers)

2. 

a. 4
b. –2
c. 3.5 (approximate)
d. Domain:  [–4, 3] ,   Range:  [–2,4]


e. x = ½ or x = –3.2 (both approximate)


3.  


a. S(13) = 58.9 billion dollars
b. 2.9 represents the growth in U.S. sales per year (after 1992).  There was an increase in US sales of computers in the amount of 2.9 billion dollars each year.
c. The initial US sales.  In 1992, there was a total of 21.2 billion dollars in US sales of computers.
4.
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5.

[image: image5.wmf]1

4

3

yx

=-+




6.
PERPENDICULAR, since slopes are negative reciprocals.
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 a.  

Slope = 1/3, y-intercept: (0, –2)

b. Slope = –3, y-intercept: (0, 2)
7.
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8.
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9.
 a. C(m) = 0.2m + 35
b. C(475) = $130
10.  (10, 6)

11.
 (1, –8)
12.  (3, 1, –2)
13.
 a.  (–8, 11)    b.(2, 0, –1)
14. a.  neither, b. dependent, c. inconsistent
15.
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   A popcorn costs $2.15 and a coke costs $2.45.
16.
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  This collection has 18 quarters and 14 dimes.
17.
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The three numbers are 9, 10 and 12.
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